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1178 || 3 x 2] = 8.9 5.1 0.4 2.96 | 2.55 il
1179 || 5x2| % 10.4 4.1 0.6 | 2.08 | 2.05 II
1181 || 3x 2| == 5:6 4.3 0.4 1.87 | 2.15 1I
1183 |[ 3 x 7| == 6.8 4.6 0.4 2.27 | 2.30 v
1188 || 3 x 2 5.1 3.3 0.5| 1.70 | 1.65

1189 || 3 x 2 6.0 3.1 0.3 2.0 1.55 Vi
1190 | 5x3]| «—~ | N 12.0 7.9 0.9 2.40 | 2.65[2.60 I
1192 |4 x2] 4 7.9 3.6 0.6 1.98 | 1.80 Il
1193 [ 2x2]| == ? 3.3 0.4 — | 1.65 1
1197 [ 4x2| 7.5 4.8 0.3 1.88 | 2.40 il
1202 [ 2x 2| = ? 3.9 0.7 — | 1.95 1
1203 || 3x 2 5.1 3.3 0.6 1.70 | 1.65 v
1204 || 5x2 8.7 3.3 0.6 | 1.74 | 1.65 Wi
1205 | 3x 2| <= 5.7 3.3 0.4 1.90 | 1.65 il
1206 | 3 X2 5.1 3.3 0.5 1.70 | 1.65 I
1210 || 3x3 W 5.5 5.9 0.5| 1.83 | 1.75 |[2.40 II
1211 || 3X 2| <= 7.2 3.3 0.4 2.40 | 1.65 i
1219 || 2°x 3| == | N 5.9 6.7 0.4 2.95 2.25| 2.2 il
1220 || 6 X 2| 4 13.0 3.8 0.6 2.17 | 1.9 i
1221 || 2x2| ¥ 4.4 3.6 0.2 2.2 1.80 \
1222 || 3°% 2| < 7.2 5.4 09| 2.4 2.70 11
1223 |[[3x 2] = 5.7 4.2 0.6 1.9 2.1 v
1224 [ 3x2| = 5.4 3.9 05| 1.8 1.95 v
1241 || 3x2| = 5.5 4.2 0.4 1.8 | 2.1 v
1242 || 3x 2| = 7.1 3.3 0.6 | 2.37 | 1.65 I
1244 | 3x3| 1 W 6.2 5.4 0.7 2.07 | 1.65]| 2.1 11
1245 | 3x 2| < 6.6 3.6 0.6 2.0 1.8 I
1246 |[3x2| ¥ 5.4 3.5 0.4 1.8 1.75 '
1250 || 3x1| = 5.2 3.9 0.7 1.73 | 1.95 I
1251 || 3 x1 6.0 3.3 0.5 2.0 1.65 I
1252 || 4 X 8 5.6 4.1 0.5| 1.4 1.37 v
1255 || 3 X 2 5.4 3.9 0.4 1.8 1.95 11
1257 || 2x 2| = 4.2 3.6 05| 2.1 1.8 i
1261 || 3x 3| = 3.5 3.3 0.5 1.17 | 1.1 N
1263 || 3x2| 7 4.5 3.3 0.6 1.5 1.65 Il
1264 | 1X1| <= 2.7 2.4 05| 2.7 2.4 , 11
1266 || 4x3| <= | S 7.9 6.0 0.4 1.98 | 1.95| 2.1 I
1267 || 3x2| 4 7.2 3.6 0.4 2.4 1.8 I
1268 || 3X3|=— | S 6.3 5.8 0.4 2.1 1.7 | 2.4 II
1269 || 3x 2| <= 4.7 3.3 0.5 | 1.57 | 1.65 v
1270 || 5% 3| <= | N 8.7 4.5 05| 1.74 | 1.65| 1.2 v
1273 || 2 X 2| <= 5.0 3.9 0.5| 2.5 1.95 v
1274 | 3xz2] 4 4.2 3.0 0.5| 1.4 1.5 it
1275 || 3 X 2| == 4.0 2.8 0.5 1.33 | 1.4 II
1280 || 3x2] % 8.0 4.8 05| 2.67 | 2.4 v
1290 || 1°x 2] 74 2.4 3.0 05| 2.4 1.5 1
1291 || 2X 2] <= 3.6 3.0 0.3 1.8 1.5

1292 | 3% 2 6.3 3.0 0.5 2.1 1.5 11
1293 [ 2 x2 2.7 2.4 0.5 1.35 | 1.2 I
1294 || 3x 2] 4 5.4 3.9 05| 1.8 1.95 v
1295 || 2x2] 4 4.2 3.3 0.4 2.1 1.65 i
1296 || 2x2| 4 3.3 3.0 0.4 1.65 1.5 I
1301 [ 3x 2] <= 4.5 3.7 0.6 1.5 1.85 11
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1335 | 4x2 | 1 7.5 3.5 0.4] 1.85| 1.75 v
1336 | 2x2 | 14 3.5 3.3 0.3| 1.75| 1.65 \s
1337 || 32 | 1 6.1 3.3 0.4 2.03] 1.65 il
1338 |4 X2 | < 8.5 3.5 0.6 2.12| 1.65 II
1339 | 3X2 | = 5.6 3.6 0.5 1.87| 1.75

1340 |3 X2 | = 4.8 3.5 0.4 1.6 1.8 I
1342 | 7x2 | = 3.3 0.6 — 1.75

1349 | 3x2 | 1 5.7 4.8 0.5 1.9 1.65

1355 | 3 X2 | < 5.2 3.9 0.6 1.73] 2.4 I
1356 | 3x2 | < 4.9 3.6 0.6/ 1.63| 1.95 I
1366 | 3x2 | 1 4.8 3.6 0.5| 1.6 1.8 I
1367 | 3X 2 | < 5.2 3.6 0.5| 1.73| 1.8 s
1368 | 4x3| 1T |W-S 7.3 5.6 0.5| 1.73| 2.05|$2& v
1369 | 2Xx2 | < 4.5 3.6 0.4 2.25| 1.8 I
1370 | 3x2 | 1 5.7 3.3 0.4] 1.9 1.65 I
1373 | 1°x 2 | = 2.4 3.0 0.6] 2.4 1.5 I
1374 | 2x2 | 1 6.0 4.0 0.5] 3.0 2.0

1375 | 2x2 | 1 5.7 3.3 0.3 2.85| 1.65

1376 | 3x2 | = 8.0 3.6 0.5| 2.67| 1.8 v
1381 | 5 X2 | < 13.2 4.3 1.1 2.64| 2.15 I
1382 | 3x 2| 4 5.7 3.0 0.5 1.9 1.5 I\
1383 | 1x1| 4 2.1 2.0 0.3] 2.1 2.0 I
1384 | 5 X3 | < S 10.7 5.6 0.7 2.14| 1.87| 2.1 il
1385 | 4x4| = | N 10.5 7.3 0.6 2.62| 1.83| 1.8 I
1386 | 2x1| 1 4.4 3.0 0.4] 2.2 1.5 \s
1391 | 3 X 2| < 5.7 3.6 0.5 1.9 1.8 I






